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• an =
1

n2
n 0,1 ≤ an ≤ 0,2

� 1 � 2 � 3 � 4

• 3x + 2

x
=

2

x
+

2x

x − 1

� x = 0 x = 1 � x = 3 � x = −2 � x = −1

2
x = 0

• ax2 − 6x + 3 = 0 a

� a ∈ (−∞; 3] � a ∈ [−3; +∞) � a ∈ [3; +∞) � a ∈ (−∞;−3]
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• 3x2−2x−√
5 = 0

�

√
5

3
� −√

5 �
√

5 � −
√

5

3

• (x; y)

∣∣∣∣ x + y = 3
xy = −10

� x2 + y2 = 21 � x2 + y2 = 9 � x2 + y2 = 29 � x2 + y2 = −21

• 2x − 1

x + 1
< 1

� (−∞; 1) � (−1; 2) � (2; +∞) � (−1;
1

2
)

• √
3x2 − 2 = 5

� (−∞;−5) � [−1

2
;
1

2
) � [2; 4) � [5; +∞)

• 2x+2 +
1

2x

− 4 = 0

� −1 � 0 � 1 � 4

• lg(2x + 3) < 1

� (−∞;−1) � (−∞; 1) � (−∞;
7

2
) � (−3

2
;
7

2
)

• {an} a2 = 20 a6 = 8

� 10 � 14 � 15 � 17

• y = x2 − 4x + 5 x ∈ [0; 5]

� 0 � 1 � 5 � 10

•
f(x) = 5x3 + x − 2 cos x x = 0

� −2 � 0 � 1 � 5
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� ((−∞−∞;
7

2
)
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• cos 2α = p α ∈ (0;
π

2
) α

�
1 + p

1 − p
�

√
1 + p

1 − p
�

1 − p

1 + p
�

√
1 − p

1 + p

• �ABC CH

AB AH = 2 BH = 3 CH = 4 �ABC

� 10 + 2
√

5 � 15 � 20 �

•

� 1 � 2 �
3

2
�

5

2

• ABCD AB = 7 BC = 3
<DAB <BCD

� 2
√

2 � 3
√

2 � 4
√

2 � 5
√

2

• �ABC AB = 12 AC = 7 <BAC = 60◦

AB

�
√

43 � 6 �
√

127 �

• cos x =
1

3
[0;

π

2
]

� 0 � 1 � 2 � 3

• y = 2x
y = x − 1

� � � �

•

�
1

2
�

1

30
�

1

20
�

1
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C = 6060
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�

3

�

960,40

� (x; y)

∣∣∣∣ x2 + y2 − 5 = 0
xy + 2 = 0,

(x; y) ∈ {(−1; 2), (1;−2), (−2; 1), (2;−1)}

� 54−3x ≤ 1

x ∈ [
4

3
; +∞)

� lim
x→0

3x

sin 2x
=

3

2

� x f(x) = 2x3 + 3x2 − 5 x ∈ (−∞; +∞)

x = 0 x = −1

� �ABC AC = 5 BC = 2 <ACB = 135◦

5
√

2

2

�

25 : 36

� 2π

12π

�

18

ma
th-
bg
.co
m

f(x) = 2) = 2xx33 + 3+ x

ACAC = 5= 5 B


